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B.COM. FIRST SEMESTER (NEP) EXAMINATION, 2023-24

ABST

FINANCIAL  ACCOUNTING

Time Allowed : Three Hours

Maximum Marks : 80

SECTION-A/ [k.M&v [Marks :16]

Answer all eight questions (Maximum 50 words each).

All questions carry equal marks.

lHkh vkB iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 50 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA

SECTION-B/ [k.M&c [Marks :40]

Answer five questions (Maximum 250 words each)

selecting one from each unit. All questions carry equal marks.

izR;sd bdkbZ ls ,d iz'u pqurs gq,] dqy ik¡p iz'uksa ds mRrj nhft,A
izR;sd iz'u dk mRrj 250 'kCnksas ls vf/kd u gksA lHkh iz'uksa ds vad leku gSaA

SECTION-C/ [k.M&l         [Marks :24]

Answer any two questions (Maximum 300 words each).

All questions carry equal marks.

fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 300 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA
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SECTION-A/ [k.M&v

1. (i) What is going concern concept ?

pkyw O;olk; lEcU/kh vo/kkj.kk D;k gS \

(ii) State the Accounting Equation.

ys[kkadu lehdj.k crkb,A

(iii) State the full name of NFRA.

,u-,Q-vkj-,- dk iw.kZ uke crkb,A

(iv) What is the overall maximum limit of managerial remuneration under Section

197 of the Companies Act, 2013 ?

dEiuh vf/kfu;e] 2013 dh /kkjk 197 ds vuqlkj izcU/kdh; ikfjJfed dh dqy

vf/kdre lhek D;k gS \

(v) Give major headings under Equity and Liabilities of the Balance Sheet as per

Part I of Schedule III of the Companies Act, 2013.

dEiuh vf/kfu;e] 2013 dh vuqlwph III ds Hkkx I ds vuqlkj fpës ds ^lkE;k ,oa

nkf;Ro* ds vUrxZr eq[; 'kh"kZd crkb,A

(vi) State the types of Inventory as per Accounting Standard - 2.

ys[kkadu ekud & 2 vuqlkj bUosaVjh ds izdkj crkb,A

(vii) State the methods of Valuation of Goodwill.

[;kfr ds ewY;kadu dh fof/k;k¡ crkb,A

(viii) Net assets available to equity shareholders of Yamini Ltd. amounted to

 80,000. The share capital is consisting of 10,000 equity shares of  4

each on which  2 per share are paid. What is the intrinsic value of an equity

share ?

;kfefu fy- ds lerk va'kksa ds fy, miyC/k 'kq) lEifÙk;k¡  80,000 gSaA dEiuh dh va'k

iw¡th  4 okys 10,000 lerk va'kksa ij iznÙk jkf'k  2 izfr va'k gSA ,d lerk va'k

dk vUrfuZfgr ewY; D;k gS \
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SECTION-B/ [k.M&c

Unit-I@bdkbZ&I

2. Define Accounting. Also explain characteristics of Accounting.

ys[kkadu dks ifjHkkf"kr dhft,A ys[kkadu dh fo'ks"krk,¡ Hkh crkb,A

OR / vFkok

Describe the objectives of Accounting.

ys[kkadu ds mís';ksa dk o.kZu dhft,A

Unit-II@bdkbZ&II

3. Write short notes on the following items of Balance Sheet :

(i) Current Liabilities

(ii) Cash and Cash Equivalents

rqyu&i= dh fuEu enksa ij laf{kIr fVIif.k;k¡ fyf[k, %

(i) pkyw nkf;Ro

(ii) udn vkSj udn lerqY;

OR / vFkok

Net profit computed under Section 198 of the Companies Act, 2013 is  9,10,000

of X Ltd. Calculate the maximum permissible amount of remuneration payable to

its directors under the provisions of the Companies Act, 2013 in each of the following

circumstances :

(i) When there is neither Manager nor Managing Director nor Whole-time

Director.

(ii) When there is one Whole-time Director.

(iii) When there are two Whole-time Directors.

(iv) When there is a Manager.
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,Dl fyfeVsM dk dEiuh vf/kfu;e] 2013 dh /kkjk 198 ds vuqlkj ifjdfyr fd;k x;k ykHk

 9,10,000 gSA dEiuh vf/kfu;e] 2013 ds izko/kkuksa ds rgr lapkydksa dks ns; vf/kdre

ikfjJfed dh jkf'k dk ifjdyu fuEufyf[kr izR;sd n'kk esa dhft, %

(i) ;fn dEiuh esa izcU/kd ;k izcU/k lapkyd ;k iw.kZdkfyd lapkyd esa ls dksbZ Hkh ugha gksA

(ii) ;fn dEiuh esa ,d iw.kZdkfyd lapkyd gksA

(iii) ;fn dEiuh esa nks iw.kZdkfyd lapkyd gksaA

(iv) ;fn dEiuh esa ,d izca/kd gksA

Unit-III@bdkbZ&III

4. Discuss various methods of Valuation of Goodwill.

[;kfr ds ewY;kadu esa iz;qDr fofHkUu fof/k;ksa dh O;k[;k dhft,A

OR / vFkok

Calculate value of goodwill by Capitalisation of Super Profit from the following

information :

(a) Average capital employed  5,00,000.

(b) Net profits of preceding four years -

Year 1 - 72,000, Year 2 - 68,000, Year 3 - 88,000, Year 4 - 84,000

(c) Normal rate of return in similar type of business is 10%.

(d) Net profit for each of the first two years includes income from non-trade

investments  4,000.

(e) Simple average of preceding years profits may be used for ascertaining future

maintainable profit.
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fuEufyf[kr lwpukvksa ls vf/kykHkksa ds iw¡thdj.k fof/k }kjk [;kfr dk ewY; ifjdfyr dhft, %

(a) vkSlr fofu;ksftr iw¡th  5,00,000

(b) fiNys pkj o"kksZa ds 'kq) ykHk &

o"kZ 1 - 72,000] o"kZ 2 - 68,000] o"kZ 3 - 88,000] o"kZ 4 - 84,000

(c) blh izdkj ds O;kikj esa lkekU; izR;k; nj 10% gSA

(d) izFke nks o"kksZa ds 'kq) ykHkksa esa izfro"kZ  4,000 xSj&O;kikfjd fofu;ksxksa ls vk; 'kkfey

gSA

(e) Hkfo"; esa dk;e jgus okys ykHkksa ds fy, xr o"kksZa ds lk/kkj.k vkSlr ykHk fy;s tk ldrs

gSaA

Unit-IV@bdkbZ&IV

5. Write a short note on Managerial Remuneration.

izcU/kdh; ikfjJfed ij ,d laf{kIr fVIi.kh fyf[k,A

OR / vFkok

Describe the name of Accounting Standard number 2, 3, 20 and 26 notified under

the Companies (Accounting Standards) Rules, 2006 and name of Indian Accounting

Standard number 1, 2, 11 and 19 notified under the Companies (Indian Accounting

Standards) Rules, 2015.

dEiuh ¼ys[kkadu ekud½ fu;e] 2006 ds vUrxZr vf/klwfpr ys[kkadu ekud la[;k 2, 3, 20 ,oa

26 rFkk dEiuh ¼Hkkjrh; ys[kkadu ekud½ fu;e] 2015 ds vUrxZr vf/klwfpr Hkkjrh; ys[kkadu

ekud la[;k 1, 2, 11 ,oa 19 dk uke crkb,A

Unit-V@bdkbZ&V

6. Discuss the guidelines of the SEBI relating to issue of Bonus share.

cksul va'kksa ds fuxZeu ds lEcU/k esa lsch ds fn'kkfunsZ'kksa dk o.kZu dhft,A
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OR / vFkok

Write short notes on the following :

(a) International Financial Reporting Standards (IFRS)

(b) Indian Accounting Standards (Ind - AS)

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) vUrjkZ"Vªh; foÙkh; izfrosnu ekud (IFRS)

(b) Hkkjrh; ys[kkadu ekud (Ind - AS)

SECTION-C/ [k.M&l

7. What do you mean by Accounting Concepts and Conventions ? Discuss briefly various

accounting concepts and conventions.

ys[kkadu vo/kkj.kkvksa rFkk ijEijkvksa ls vki D;k le>rs gSa \ fofHkUu ys[kkadu vo/kkj.kkvksa ,oa

ijEijkvksa dk la{ksi esa o.kZu dhft,A

8. State briefly the law and the procedure regarding Declaration and Payment of

Dividend by a Company. What accounting entries are passed at the time of declaration

and payment of dividend ?

,d dEiuh }kjk ykHkka'k dh ?kks"k.kk ,oa mlds Hkqxrku lEcU/kh dkuwu ,oa izfØ;k dk la{ksi esa o.kZu

dhft,A ykHkka'k dh ?kks"k.kk ,oa Hkqxrku ij D;k&D;k ys[kkadu izfof"V;k¡ dh tkrh gSa \

9. Define Goodwill. What factors generally affect the valuation of goodwill of a

business ?

[;kfr dks ifjHkkf"kr dhft,A ,d O;kikj dh [;kfr ds ewY;kadu dks lkekU;r% dkSu&ls ?kVd

izHkkfor djrs gSa \



ABS5001T/780 Page 7 of  8

10. Prepare Balance Sheet as at 31 March, 2023 in the Schedule III to the Companies

Act, 2013 format from the following information of Asha Ltd :

10% Debentures 10,00,000

Long-term loans 38,00,000

Trade creditors 1,40,000

Cash and Bank balance 3,40,000

Goodwill at cost 3,84,500

Loss of the year 2,10,000

Fixed assets at cost 65,00,000

General Reserve 1,30,000

Unsecured short-term loans 8,00,000

Advances to directors (Long-term) 3,60,000

Sundry debtors 1,30,000

Provision for doubtful debts 15,000

Securities premium 6,00,000

Non-current investment 20,500

Closing Stock of finished goods 3,40,000

Additional Information :

1. Share Capital consists of :

(a) Authorised capital - 10,000 Equity shares of  100 each and 10,000

10% Redeemable Preference shares of  100 each.

(b) Issued capital - 3,000 Equity shares of  100 each fully paidup and

10,000 10% Redeemable Preference shares of  100 each fully paid-

up.
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2. Accumulated Depreciation on fixed assets  5,00,000.

fuEufyf[kr lwpukvksa ls dEiuh vf/kfu;e] 2013 dh vuqlwph III ds izk:i esa 31 ekpZ] 2023

dks vk'kk fyfeVsM dk fpëk cukb, %

10% _.k&i= 10,00.000

nh?kkZof/k _.k 38,00,000

O;kikfjd ysunkj 1,40,000

udn rFkk cSad 'ks"k 3,40,000

ykxr ij [;kfr 3,84,500

o"kZ dh gkfu 2,10,000

ykxr ij vpy lEifÙk 65,00,000

lkekU; lap; 1,30,000

vlqjf{kr vYikof/k _.k 8,00,000

funs'kdksa ds fy, vfxze ¼nh?kkZof/k½ 3,60,000

fofo/k nsunkj 1,30,000

lafnX/k _.kksa ds fy, izko/kku 15,000

izfrHkwfr izhfe;e 6,00,000

xSj&pkyw fuos'k 20,500

rS;kj eky dk vfUre LdU/k 3,40,000

vfrfjDr lwpuk,¡ %

1. va'k iw¡th fufeZr gS %

(a) vf/kÑr iw¡th -  100 okys 10,000 bfDoVh va'k ,oa  100 okys 10,000

10% 'kks/kuh; vf/keku va'kA

(b) fuxZfer iw¡th -  100 okys iw.kZ iznÙk 3,000 bfDoVh va'k ,oa  100 okys iw.kZ

iznÙk 10,000 10% 'kks/kuh; vf/keku va'kA

2. LFkk;h lEifÙk;ksa ij ,df=r ewY; gzkl  5,00,000.

----- × -----


